Krivky svitivosti LED svitidla typu 1

130

candela/1000 lumen

-
As Installed with Tilt = 0.0 deq.

Imax80 = 28,5
. Imax90 = 0.0

Imax Above 90 = 0.0 /\(f

Imax .ﬁ.bu'u'e 95 = l:I 0 \\

N

Luminous Intensity Class = G4 |
Imax/0 =414.2 .
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Krivky svitivosti LED svitidla typu 2

180 candela/1000 lumen
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Krivky svitivosti LED svitidla typu 3 s optikou A

180

candela/1000 lumen

~
As Installed with Tilt = 0.0 deq.

Lumilnnus Intensit:,-' Class = Mone ™
Imax70 = 700.3 %
Ima:{ED = 531 7
{Imax90 = 403.2 W R
Ima:{ .ﬁ.bwe 90 = 403, .'11

Imax Above 95 = 132 0"
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c=150/0 0

c=270/50
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Krivky svitivosti LED svitidla typu 3 s optikou B

180 candela/1000 lumen

= L
As Installed with Tilt = 0.0 deg. R

Luminous Intensity Class = G1 T RH

: =
Imax70 = 357.6 Ay
Imax80 = 173.9 P \

 Imaxa0 = 1.5

R i 3 -
Imax Above 90 = 1, 5>( T \x"'
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Krivky svitivosti LED svitidla typu 4

180

candela/1000 lumen

As IHE@"Edﬂﬂj Tilt = 0.0 deg.
Luminous Intensity Class =G3
Imax70 = 247.0 r%
ln'lEl:-(Bl:I E'l 3

 Imax390 = 1.3

Imax Above 90 = 1.3 /\\/’

Imax ﬁ.bl::n'u'e *'.-'15 = 0.6
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